NI - BE

Q AKRE—YtE>9—H5D
== PASE
~SHRBEFRED KA~
1-2BEXV. BEXAZDIHREECEERUN
SHERRZFHEELE T,
BRE=18228 (K) 298 (K)
FB 128309~ 146309
WR-EE=16mUL. 6 A
ER=1,1000
B5Y=27 v N BZPITVRE - ERAA 21— -
IAI - BRAY)
BA-REE=18158 (K) 5. BEFEHEE. N
ZAR—=YEI— (B52-1245) N\

Q AR EHE
gz TH (XESEOHBASE
OH<h<FYXSUR

I70>2 79— NEA - FRBURBE RFBEY
BLUTCFBCPORBLTDOIERERDOEL £ Do
BE=22218 (&) 9K300~ 118302
3P = DMG MORI & EBILER—IL L7 3

2R—=Ib
MEFEYBEEF BLAADBRICHNSELTWET,
& [ANHVERFRI1-2-3 1 !

BRI UCRRIC | FHE—ECHZENLT
U7Lysal (GE6m: B8l 588 £RIA)
BR=28268 (K) 1086~ 116

(RS 9B 459~)

BR=FE (XET>I—ILEIEHR

(S @R8] 60-9)

RBEM="\R9F)L (RICBI=FT)

HEITPTVIRETSIL TSEE W,

(&)

MR =mAEEDARUNE R ZDRES

BA=129 =2y NEDPIAT +— A (https://
select-type.com/rsv/ ?id=q375PV7YIm8) H5

MEE=FB (XEL>Y9 - IZLEIELELE
(& 59-4141)

Q, EmsyEs/\EHEss
e HERNA
Q3IHEE (105000 - EEZ20A)
@ 10309~ 11309
A 19K 309~ 20K 309
OS50 RINI7HZE (B600MH - EE20A)
QRS 10~ 120
QOEFEEH=E (1@500M - EE20A)
E2-40 13309~ 145309
QHRIRAHE (FES15A)
AFS7 2R (BB B 2,500M)
D I8E~ 19, 19~ 208300 11~ 12K
RIS R - PERT S R
(®» 84,200 & B 4,400)
D19~ 206300 & 9300~ 1185
&y Hh—= (A 3,000A)
Do~ 170
OEKEHR=E (B3,000B-FE20A)
D (FEL) 18309~ 1983090
(KA) 1985409~ 2085405
0 - IS U =%EBEEH L BiEE (8 59-2088)

& $160
mop SCBHKE

2B (2B ) #BiELT.
DIEHICET B RENAR. SED 2
Kzl FF 3RS REE%=
#HELTVE T BEEBLSS. &
PETHELAL I (BARE),
KERBADSIDABRE LT LT
WET,
BE=2828(8) 108~ 178
BAT= DMG MORI P E EBRBUSEIR— )L KR—ILIED
ISR E
D [BMY — A I =KEI—F—) (BEIESTIEEE
A TR A — Y B1E)
@ 3D/ NI - VAY—=IL&UODI I L3> D—
F—| (ZRTE£S%EPIFR)
o [BABSEI—F—]
Mee=BEHALRITESS
(®53-1156)

(EEFEZRA)

KBS L#® DOuh) @ 13



